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No. of Questions : 150
g @ §@E&Er ;150

Time : 2 Hoyrs _ Full Marks : 450
9T : 2 gu2 : quTiE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3

01.

02.

(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

e g9+t H & HE B FTA HL | A 999 3 (§9)
Mt H B FAF TAT IOX P R QF S7F FIET FAIWMI
g% STIARA 9 H Wi YT B |

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest bne.

gf utas Jefeas IO T8 IO B Mae gfia &, @ Meeas
El I |

Which of the following is NOT a part of the Neuron ?

(1) Soma (2) Dendrites

(3) Ganglion (4) Axon

Prefoiad & @ P-a1 &g HfwH & |9eT TE 8 ?
(1) &= (2) S

(3) Affera= . (4) TETH

Which part of the body is NOT directly activated by the autonomic
nervous system ?

(1) Leg Muscles (2) Stomach Muscles
(3) Heart Muscles (4) Endocrine Glands

3 P.T.O.
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03.

0S.

Wmﬁw-mmmﬂﬁgmmm-maﬁﬁmﬂ

fapar ST & ?

(1) ¥ N migARE (2) T & "GP
(3) T H wEAlRkwEi (4) STa-@md afeeal
What is the nature of nerve impulse transmission ?

(1) Electrical (2) Elector-chemical
(3) Chemical (4) Electro-magnetic
g yars & apiy wJar ¥ ?

(1) fgha (2) fga wamt
(3)  TrErafts : (4) fga-g==Em
'Epinephrine’ is secreted by which gland ?

(1) Thymus (2) Thyroid

(3) Pituitary (4) Adrenal
‘o e afa ZrT @i @ ot & ?

(1) 9IgHYg (2) 9ERas

3) fegfead (4) g

Which type of memory is most ‘organized and stable’ ?
(1) Epis8dic Memory (2) Iconic memory
(3) Working Memory (4) Semantic Memory
fre g &t Sfd 98 iftes ‘aaRaa od wrly &<t ? ?
(1) geE o - (2) faewe afy
(3) Hrdwr Ty (4) sr=reies wgfy
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Which of the following is NOT a characteristics of sensory memory ?

_{1) Improvement by practice (2) Fleetingness

07.

(3) Unprocessed information (4) High storage capacity

fFrefofra & @ aF-ar @30 fy & oot Fdt ] 2
(1) =™ TR g ‘ (2) @PmEEar
(3) IrEEfE g (4) T=T WSO &l

The phenomenon in which "learning of new material leads to reduction

in retention of earlier learnt material” refers to what ?
(1) Proective Inhibition (2) Zeigarnik effect
(3) Retroactive Inhibition (4) Backward conditioning

39 ge & w1 arad @ e o el @ oftrm @ sRer @@
g Ot 18 greh @ gRor ¥ B &ar 8 7

(1) oTIrgE AfEHoT (2) Senfis asma
3) TSI=@ aAfEwoT (4) gy SAgEYA

What does the term "serial position effect” refers to in context to

memorizing a list of wards using free recall method ?
(1) Better recall of middle items of th? list.

(2) Better recall of items at beginning and end of list.
(3) better recall of items at the beginning of the list.

(4) Better recall of items at the end of the list.

5 P.T.O.
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g gareE iy &1 IwEr #7a g2 Rl a= g A | A
® oot # “ofie WWH 9@’ 9% & T ared 8 7

(1) §N & "9 B Y&l & F<TAX TATDH |

(2) =N P U 9 A B U&f H ATAT TR |
(3) TN & YW B U_T H AT T |

(4) G B I B T& W ADAIT TATDBH IR

09. What does the term "Mnemonics" refer to ?-
(1) Specific learning techniques.
(2) Specific motivation enhancing techniques.
(3) Specific emotional control cnhancing techniques. -

(4) Specific memory improving techniques.

‘Frfera’ 98 &1 @ ard B ?

(1) Rfire stifrm a&dis |

(2) fafdre sifsor sifufgss awits |
(3) fafdre g@anfa=or sifwfges asa |
(4) fafdre fy sifges awia |

10. The proponent of the ‘classical conditioning theory' of learning

WaS..oeieiiiinininnnnnn. and thc¢ main experiment was done on............. ?
(I) Pavlov, Dog (2) Kohler, Chimpanzee

(3) Pavlov, Cat - (4) Skinner, Cat

ST B It SrgEY RsT=T & gD T
R (C B 01 1) S 93 fpar mar ar )

(1) dfaea , g (2) @reerR, Frersh

(3) dfaera , fassh (4) Repr, facsh
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12.

- 13.
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What is that schedule of reinforcement called in which 'No
reinforcement is given, no matter how many times the response is
made, until a certain interval of time has elapsed'.

(1) Fixed-ratio schedule (2) . Variable-interval schedule

(3) Fixed-interval schedule (4) Variable-ratio schedule

3E P FIG B AT FHET AT & A ST dH qHY B ThH
ﬁﬁ%maﬁawaaﬁwwmaﬁ&mm =<8
fra & ot srgfear aat T A S

(1) Faifa saa srggEh (2) aRddefieT-sr=aT ST
(3) Fraifta-ore ot (4) IRadAsha-srua g

Which type of learning is defined by 'understanding of the relationship
between components of the problem' and is marked by 'sudden

appearance of the solution’ ?

(1) Trial & error learhing (2) Insightful learning

(3) Operant conditioning (4) Concept learning

fra g@iR & it & ‘GuET & gewl B AadHl i GHA BRI
AR T THEE $ FHEI Thed’ &)1 fRAfed frar san 87
(1) orvrd @@ Ffe st (2) STISHATHF IrH

framga sifams (4) =gy AT
Which of the following is NOT a characteristic of attention ?
(1) Readiness (2) Selective reaction
(3) Exploration ' (4) Unlimited Span

7 P.T.o.
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14.

15.

16.

frr=fefaa & @ A9-91 19U &1 @eyor Jdt g ?

(1) g (2) TFATES FAFfHAT

(3) T - (4) i RfEr

Which of the following is NOT a subjective determinant of attention ?
(1) Interest _ (2) Past Experience

(3) Stereotypes (4) Novelty

Prfafea # @ A-@ AU F1 ARKIRS FH TE B ?
(1) st (2) & FgHT

(3) wfegfmai (4) =Q9A

What does '‘Random and intermittent change in intensity of sensation
despite the constancy of strength of stimulus' refer to ?

(1) Fluctuation of attention (2) Division of attention
(3) Sustainability of attention (4) Distraction of attention

‘FEH  Ft dmar Rax @ B @9 @3 @t dmar ¥ gelRew
o oafda afikad=’ @ aar arqd & ?

(1) o9 fRgas (2) S1auE fEs=
(3) oTau fRawErn (4) STy ey

The theory proposed originally by Broadbent regarding selective
attention is known as :

(1) Load theory
(2) Attenuation theory
(3) Filter Theory

(4) Attentional resonance theory
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18.

19.
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TEIE U $ AR ET 4 fedw ZR sERE R, #@
ST ST @

(1) s R (2) wRgATH faar
(3) freex R - (4) STy daAg R

What is the effect of increment in stimulus intensity on attention ?
(1) Reduction in fixation (2) Enhancement in fixation

(3) Increment in oscillation (4) Distraction of Attention

mﬁmﬁgmmwwmﬂmm%?
(1) Rerfezor & & 2) Rerdwor 7 gRx
(3) o= # =& 4) @ R

Which of the following is NOT a law of perceptional organization ?

(1) Proximity (2) Similarity

(3) Clarity '(4) Continuity
Praffas & @ @e-ar wRafe qre @ Pan Td ¥ ?
(1) .aaar (2) THEAT

(3) Tsn (4) PFRERar

What is the reason for the line with featherheads at the ends appearing
longer than line with arrowheads at the ends in the Muller-Lyer

Illusion ? _
(1) Form Constancy (2y Colour Constancy
(3) Brightness Constancy (4) - Size Constancy

9 P.T.O.
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F AR 9 # 8 WX d@mit del) Y@ @ 8t 93 st arch

20.

21.

@ A e T Rad &1 9 Hrer &2
(1) &9 Rezar (2) 1 Rerar
(3) wwe fReerzar (4) omHR Rear

Which of the factor does NOT contribute to perception of apparent
movement ? .

(1) Shape of stimuli

(2) Intensity of stimuli

(3) Distance between stimuli

(4) Time interval between stimuli

STHEl Y B geEor § PH-ar BRE AR T8¢ 2qr ?
(1) IE9FH & TR '
(2) Ségs A dgan

(3) Gﬁm%aﬁaaﬁgﬁ

(4) IEu® B g F gEY oTaS

Which is the correct order of the following processes involved in
perception : (A) Interpretation by brain, (B) Generation of Neural
Impulse, (C) Sensory stimulation, & (D) Transmission to Brain ?

(1) A,BC,D (2) C,B,D,A
) C,D,B,A (4) D,A,B,C
mﬂ%ﬁ%@nﬂwuﬁwﬁq—m%?(w

wﬁﬂmsmatémm(a)wlgmaﬁaﬂﬁr, (|) s3dg 3w,
g () afkasr # dgor

(1) &, 9,9, 7 2 8§, 9, 7 &
B) 8, 7 7, 4 7 3,3, 9

10
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22. The --------=------- hypt.;thalamus is responsible for onset whereas the

23.

................. hypothalamus is involved in cessation of eating behaviour.

Fill in the two blanks with appropriate pair:

(1) Lateral, Medial (2) Anterior, Posterior

(3) Lateral, Ventromedial (4) Anterior, Medial

TEOT FAETT HI ST B Y STTUATHH BT .ooveeeneennees T S (®
T R & R eTadem d® & . AT IAEET B

(1) qexq, HfEaw (2) wARET , ARRAT

(3) dexd, AT 4) TRy, difgad

Which of the following is NOT a characteristic of High n-achievement

persons ? ‘

(1) Preference for moderately challenging tgsks
(2) Preference for highly challenging tasks
(3) Preference for career-related tasks

(4) Preference for tasks involving comparison

ﬁmaaam-mmm_mmmmm
-t 2?7

(1) "emm @< @ gAdt gof HrEt B 9w

(2) orafus g ot @t B TE

(3) S afy graef HET H THS

(4) Wﬁwm@aﬁm

11 RT.O.
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24.

Choose the correct ascending order for the following needs according

to Maslow's hierachy of needs.

(A) Belongingness Needs, (B) Esteem Needs, (C) Need for Self-
Actualization, (D) Physiological Needs, (E) Safety Needs

(I) A,C,B,D,E (2) D,B,ACE
(3) B,C,AE,D 4) D,E,A B, C

M%mﬁmaﬂmﬁmm%wﬁwwﬁ
B TE AE F YR

(a)maaﬁanasm(a)mwmaﬂasmﬁ(ﬂ)mmﬁgaﬁ
AaE@EHN (X) Aes sravamary (%) g sravgwant

(1) 1,9, 9,37, ¢ 2 ¥, 8, 9, 9, 3

@) =@ L @ % ¢ &, 8 9

25.

What is the basic assumption underlying use of Rorschach Ink Blot _
Test for assessment of personality ?

(1) Projection of respondent’s innermost unconscious feelings onto

the vague stimulus pictures. _

(2) Respondents speak truthfully on seeing the vague stimulus

pictures.

(3) Respondent's desire to reveal information is enhanced on seeing
the stimulus pictures

(4) Respondent's self-understanding is enhanced on secirig the
stimulus pictures

12
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27.
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afFra @ oTiwew 3G UM TR geEn qQEET ITE HA A
YA EaYReT F|T & 7
(1) o SEUE et 9T gferh it SFARRaH STaad AasT H

(2) oreqs IS el & @S girarl &1 q A

(3) 3P RE B I@E SR @ gaEeredt B gHe HA H F
# gfx &

(@) Idgw RET @ @ w g @ =@ wEe J gis we

Cattell's and Eysenck's theories of personality are based on research
using which statistical technique ?

(1) Multiple regression analysis (2) Analysis of variance

(3) Factor Analysis ~ (4) Correlational analysis

227 og oNEE B A Rrerd by Fifehd qais B ST
fFY g2 Srgdgrt o STmama ¥ 7

(1) sgafrrT Ryawor (2) ST Redwer

(3) HeHg faedwer (4) TETEUETH AW

What is the correct sequence if arranged in an ascending order for
the following stages of psychosexual development proposed by Freud?

(A) Anal (B) Genital (C) Latei.:y (D) Oral
(1) A,B,D,C ' (20 A,D,B,C
3) C,AD,B 4) D,AC,B

[

mmmﬁaﬁmaﬁﬁwﬁmqﬁ%ﬁmmﬁﬁuﬁ
axrﬁﬁw_ﬂamﬁmﬁmﬂaﬁ@mw@m?

(=) T (=) & (W) wgD (3) TE

(1) A, § %% 2 H, T 9, 9

3 AT 4) T, NG, W

13 P.T.O.
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28.

29.

30.

Which of the following is NOT a reason for the manifestation of research
problem according to McGuigan ?

(1) Need to publish research (2) Gap in knowledge

(3) Contradictory Results (4) Need to explain a.fact
FHgH & argaR Freifafaa & @ Ae-ar sivg awwn @ 9gva @
Hror 4t & 7 '

(1) <Y ShIE 3 STEgFHar

(2 I P X

(3) Rirarers afomy

(4) T FH FJTEET B AEYTHAT

Which type of research problems involves observing the effect of
changes in one variable on another variable under controlled
conditions ?

(1) Practical Problems (2) Historical Problems
(3) Social Problems (4) Experimental problems

ﬁmwaﬁsﬂumaﬁﬁqzsa?ﬂaﬁar@rqﬁaﬁmgﬂi
T W IS I 9T H et Prifya oRRafiat ¥ fear s 27

(1) =aeie e 2) UREfs gaend
(3) wmifTs Twend (4) TANTTR RS

Which type of hypothesis would it be if a researcher hypothesizes
There would not be any significant difference between the adjustment
scores of male female employees of an organization.'

(1) Negatively Stated Hypothesis (2) Existential Hypothesis
(3) Null Hypothesis (4) Universal Hypothesis

14
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32.
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aft site Fal oRERaT B ¥ B R deam 3 gew a Hfe
FHIRG ® GHEAH araist § Hg grefe << F8t an’, a a8
forg g &t afReerq=r anft ?

(1) s Ha- @t aitewea (2)° Raers aReea
(3) A afREwear (4) T Afysw afReear

Which of the following is- NOT a essential characteristic of a ‘good
hypothesis' ? -
(1) Adequate answer to problem (2) Verifiability

(3) Positive statement (4) Conceptual clarity

Prafafag § 9 9 a1 @ ‘I RS H 3799GqH A_I9T TEl
g7

(1) THE F R e (2) TTgHET

(3) YATHD HIAT (4) TIETHP Tl

In which experimental design the same group is tested under both

experimental and controlled conditions ?

(1) Single group design (2) Matched group design

(3) Between group design (4) Randomized group design
fre TS ST # T & aug F g qen R A
gRfafadt & qleror fear s 2 7

(1) wHa g8 ARTHT (2) gARma @y A

(3) I [IE A¥H (4) reEdipa a8 ATHHT

15 P.T.O.
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33.

35.

What fs the major advantage of using Factorial Design ?
(1) Studying effect of more than one variable

(2) St;udying the interaction effect of variables

(3) Conduction research on more than two groups

(4) Controlling the effect of all possible external variables

(1) % ] F a3 B 999 BT AIGT HCN
(2) I B FARBAT TG BT AFIT HAT
(3) A A A TSt W MY TR BT
(4) mmaﬂ%maﬁﬁﬁﬁam

What percentage of cases lie between +1 S.D. and -1 S.D. under a
normal probability curve, where S.D. standard for stands Deviation.

IR w9 fges &t 9.7, g i/ s Y /W 9Yerear 9%
& M +1 AR, aur -191.7. 3§ Sig Y gfave ¥ Rag a3
€7

(1) 60% (2) 68.26% - (3) 34.13% (4) 75%

‘What would be the type of distribution when the larger numbcr of

individuals in a group are high scores.
(1) Positively skewed (2) U. shaped

(3) Normal (4) Negatively skewed

16
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afy fpd e 7 sifteaw dear ® afd I=a oiw ara H a &
ar faaer fFa g @ ' ?

(1) g=TeTeh faesar arn (2) F-HAHR AT
(3) wEHTH (4) FOTES fawHar awen

A Normal Probability curve on the basis of its 'peakedness’ is
categorized as :

(1) Mesokurtic _ (2) Leptokurtic

(3) Platykurtic (4) Skewed )

A FAX T B AR 9T el rETE RBaer @ aftwr a8 @
(1) AqHEH (2) ARNREER

(3) AHEH 4) faww

In a distribution, 50% cases lie below and above which score ?

(1) Mean (2) Mode

(3) Median (4) Percentile

REEY RaTor ¥ frg OTdi® @ S @ ST 50% dasr Raa & ¥ ?
(1) " = (2) «&AD

(3) wfaeE (4) ufeEs

If means (M) and the number of cases (N) for three groups are as
given as- Group A (M=30, N=50), Group B(M=35, N=70) and Group C
(M=40, N=80) then what would be the value of mean if all the three
groups are combined ?

aﬁeﬁqv@%mm(mw%@maﬁﬁwm)mmﬁné
? -@9E H (M=30, N=50), §98 & (M=35, N=70) 79 &JE ¥ (M=40,
N=80) a9 afx At GgE & e Rar T @ FATH H AT F
g ? -
,(1) 38.00 (2) 35.75 (3) 105 (4) 0.51

-

17 P.T.O.
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39.

41.

Which measure of variability is based on the distance between two
particular scores rather than involving all the scores of the distribution.

(1) Standard Deviation (2) Average Deviation
(3) Variance (4) Quartile Deviation .~

Rrercersficran &1 B-a1 719 79T Aazor o grarEt # g
m@mﬁmaﬁmm%aﬂaaﬁiﬁwmﬁam
g7 _ :

(1) s+ Raew (2) Shaa Raws

(3) =E @) =gds Reas

What is the formula for calculating Standard Deviation (o) for
ungrouped data if Raw Scores, Mean and number of cases are depicted
by X, M, and N respectively ?

A g AT, TEET T FAA H T FAM: X, M a9 N g0
g @ o &t srerdiga stiwSt @ WE REE (o) @& TOMT @5
gy wT e ?

(1) \/Si(X-M)’fN (@) (X-MyN
(3) X'N (4) JS:(X-N)’/N

The correlation coefficient (r) equal to +1.15 is obtained by calculation
using product-moment method, what does it convey ?

(1) Correlation is highly positive

(2) Correlation is not very high but positive
(3) Correlation computation is incorrect .
(4) Correlation is not significant

18
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TR-Age Rfy & @ #Q g FeT=U-TONE () H A
+1.15 AT &1 8, 38 FT AT w1 B 7

(1) TBE<FY TafE aares 8

(2) TEETIY qFA I=T A8 B W UNIHE o

(3) wWEE=RY & ToTr FRYeE 3

(4) TeEwE= gdE TE 2

Who devised the Rank-Difference method for calculation of correlation?

(1) Karl Pearson (2) Charles Spearman

(3) Francis Galton (4) Henry E. Garrett

Qe T F Hife-rar fafyy, fpaa eifvmeleaa & & ?
(1) =t Ra@a 2) s Raad=

(3) wif~ag meeA 4) 0 €. Me

Which is the best method for finding out the correlation when out of
the two variables to be correlated one is continuous whereas the other
is dichotomous ?

(1) Point-Biserial (2) Tetrachoric

(3) Phi Coefficient. (4) Biserial

Ifz P & a3t B g gEE-Y S BT & I9H & TH A adr
a1 i, & @) geaery TIa FA H Fea a9 fafy ae-H
27

(1) uige - sdiREaa (2) 2TTRIRE

(3)- B1E HrRAMKRIGE (4) szERES

19 P.RO.
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“.

45.

Maturation is related to naturally occurring changes that are governed

(1) Brain (2) Learning

(3) Experience (4.)/_ Gene

RUFaT TpfE &Y B A I9 aRkadEt § TEw & o ..
............... o Pt ®

(1) wARerss (2) afermm

(3) Igwa (4) JorgH

Which of the following is NOT a characteristic feature of the stages of
human development ?

(1) Unaffected by Cultural changes
{2) Follows a Definite pattern

(3) Follows a Predictable pattern
(4) Aided by Stimulation

ﬁwﬁf@aﬂﬁmmmm%mzmmwﬁ
3 2 . ‘

(1) gieplas Radst ] smwfaa

(2) @ FfYEa sR@Er &1 P A g

(3) TH QAT WRET B ST HA Jredl

(4) IE9T q FEEAT 9T GHA e

Which stage of development is termed as the stage of 'storms &
stresses’ ?

(1) Childhood (2) Infancy
(3) Adolescence (4) Emerging Adulthood

20
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frprer @t -2 SraEET ‘qEAT oF gAY oraeT Her ¥ ?

(1) SrgTEE (2) rsvETET
(3) Reamae 4) ST aawrEEn
47. Every human being receives ...........ccoccevuenns chromosomes from each

. parent of which the sex of the child ddpcnd_o on the one chromosome
received form the ................

(1) 46, Father _(?) 23, Father
(3) 46, Mother (4) 23, Mother
Qe " qiar Rar 4 gQs | mﬁmmm%

R @ I=3 & ¥ @ fFratzor ... { OT Th B 9X AR
BT B ;

(1) 46, far | (2) 23, far

(3) 46, ATl : (4) 23, Jrar

|48. In which stage of developmcﬁt there are least changes and thereby it
is termed as the 'plateau period '?
(1) Adolescence (2) Early Adulthood

(3) Mid-Adulthood (4) Late Adulthood

P & Ree ofae # @@ W qRadw 83 ¥ ofx weEmed R
‘TS HIA’ HBT AR & ?

(1) PreiEen (2) uRfwe agEHEE

(3) AN-FEHIEA (4) ST IAEHEATN

21 P.T.O.
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49.

What is the correct order of a baby's initial stdges of language
development which include the following (A) babbling, (B) cooing, (C)

- producing words, and (D) showing meaningful gestures.

50.

(1) C,B,AD (2 B,C,A,D
3) CAB,D (4) B,A,D,C

Riggaft & st s R et Fretffre s w@ftfea & s
a8 B9 ¥ ? (31) Saaa (F) Reafrer (&) w1t @ Sae
HEAT (F) Sdyget W gee= N

(1) & 49, A, T 2 F, 9, 3, ail
3) &, 91, 9, & . (4 ¥/, 9, % 9

PR |
Longitudinal approach is most appropriate for investigating human

development as it is possible to trace the developméntal changes :
(1) continuously within same individual i

(2) at different points of times within different i:tlait\}iduals

(3) at one point of time within same individuals __1; -

(4) by using less time and effort

Wmaﬁwﬁmq@ﬁmﬁm%mﬂﬁﬁ
gad 39 Reraes aRad=t & fiftea s gwa 8

(1) uws & afeda d Fax ' '

2) ﬁ‘xﬁwaﬁaﬁ’rﬁf?ﬁwmﬁﬁeﬂwm

(3) wH & A ¥ o quE fg W

(4) P HF 9 GG HT I9GNT FD

22



510

82.

83.

14P/248/5

Which methodology would be considered the best for the study of
very small children ? :

(1) Interview

(2) Self-Ratings

(3) Systematic Observation

(4) Standardized Questionnaires

TEI B F= & read B Rid AR R 9w@ Sogaa arh arh
g ? '

(1) SR (2) @A geaiHT

3) Fafra frémor (4) HFEHpa gyATEtear

What is the cause of 'Down syndrome' ip new born babies ?

(1) Trisomy (2) XYY syndrome

(3) Mutation (4) XXX syndrome

oo fargedt & ‘s R’ & wRer w®T B ?

(1) srEErd | (2) T g ag fagm

3) IaRad= (4) T T o g

At which age span babies have been found to display ‘fear of
strangers'?

(1) 1-2years (2) 6-1§ months

(3) 1-6 months _ (4) 2-3 years

Rew oy 7 Ry ‘srorfaEt & WA gaefe Ha 9 o ¥ 7
(1) 1-2a¢ . (2) 6-18 &R

(3) 1-6 W& 4) 2-3 a¥
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54.

Which is the correct order of Koglberg's stahes of moral development
given below :

(A) Contractual Morality, (B) Good boy/ Good Girl orientation (C)
Instrumental morality & (D) Punishment orientation

(1) A,BCD (2) D,C,B,A

3) B,D,C,A ' (4) C,D,A,B
ﬁﬁﬂgﬂﬁmﬁaﬁ%ﬁmﬁmﬁm‘m&ﬁwaﬁww
R ? (o7) wRme Afvwar (3) ST wew /e A At
(@) AR Sfeemar @@ (%) avs st

(1) A, & 9§, T 2 % 9|, A

3 9, 9|, A ‘ 4) 9, 7 A, 4

Which stage of development is termed as the ‘Gang Age' ?

*

(1) Early childhood (2) Adolescence

(3) Emerging adulthood (4) Late Childhood

R & Pa-@ g s oy’ & A @ S SRt @ 7
(1) uRPwes sgEaeEn (2) ReeMRTEEET

(3) FHfa agwmEEn (4) IR FrIEET

What is the age span for Piaget's concrete operational stage ?

(1) 7-11 years (2) Birth to 2 years -
(3) 2-7 years - 4) Beyond 11 years
ﬁmﬁ%ﬁtﬁﬁﬁwmmwmrgémw%?
(1) 7-11ad (2) = ] 2 a¥

(3) 2-7ad 4) 1138 F a=
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14P/245/5

Which child rearing style is characterized by 'high acceptance and
involvement, firm control with explanations, and gradual autonomy
granting' ?

(1) Authoritarian (2) Permissive

(3) Authoritative (4) Uninvolved

T B AAA-IIH FH HA- JN ‘TeT DiHOT T P, TWLIHOT

F e B ?

(1) SamEy ' (2) AT

(3) &= (4) STEEE

Which of the following is NOT caused by malnutrition ?
(1) Marasmus (2) Hemophilia

(3) Kwashiorkor (4) Obesity
Prafafaa § & P-a1 FAToT & HROT T8 Bar ?
(1) ATE™ _ (2) R

(3) FfIr@mET (4) wreTar

What is meant by 'identity foreclosure' ?

(1) Committing to values and goals after exploring

(2) Being in the process of exploration for appropriate value and
goals

(3) Neither being committed nor in process of exploring values or
goals

(4) Committing to values and goals without exploring

25 P.2.O.
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60.

61.

‘“fersma gAEe’ & arad ® 7

(1) o AYor & aw gedt aur IRedt B oy Efia e

(2) quﬂﬁﬂgﬂﬁaa-asﬁ%dﬁw,_a%m%ﬁam

(3) A @ goat 3IBeAt B ufy 7 wEida &= T & rAwer afkar &
dra & ,

(4) =1 o =_wer & gt od IReAt B ufy FEida &

What does ‘counselling’ refer to ?

(1) Help given by the counsellor to counsellee to help himself /
herself

(2) Help and advice given by counsellor to counsellee
(3) Consellor's giving solutions for counsellee's problems

(4) Counsellor's efforts to make counsellee happy

‘quset’ &1 T arad B ?

(1) wxmelerar g wEsft & gergar 3 afd @8 w@d ot
FEIAT HT G .

(2) SmEstEmar @R well B gEmar od q@are &ar s
(3) gxmsterar &1 qxmsht & anegrelt # guE AT
(4) gyEelEar &1 qrmstt Y g9 HHA F AT FEAT

What is it when ‘one puts oneself in the place of another person in
order to understand that person's way of looking at things' ?

(1) Understanding _ (2) Rapport
(3) Empathy (4) Sympathy
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S ‘B AR @E e gEY A A orre 93 zaf e @
W% a8 I9 afe & gfewor Hf gas @@’ O a8 F=1 & ?
(1) =& (2) TIHE

(3) wrgHfa (4) @Al

62. Which area of guidanc_e is related with solution of an individual's
psychological adjustment problems ?

(1) Developmental Guidance M2} Personal Guidance
(3) Health Guidance (4) Educatipnal Guidance

MRse &1 PF-a1 85 A H gEREsE guEeT gaeet 3
gy @ 99 & 7

(1) RFrass RReE (2) =afFrEa ME=
(3) w@rem e (4) e PR

63. Which of the following is NOT a very suitable method for collecting
information for counselling ?

(1) Interview (2) Case-Study

(3) Cumulative records . (4) Experimentation
Prefofas & & At Ry aomet & R ged o w0 A
 SIgH fafy &t 8 ?

(1) TR | (2) F - J=IA

(3) A If¥HE (4) Fam

64. 'Which of the following techniques involves analysis of dreams as a
part of the counselling process ?

(1) Existential (2) Client Centered
(3) Behaviouristic (4) Psychoanalytic

27 P.T.®.
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66.

67.

et afEar B sisr B =g # Frfafea § @ A9-:GS a E
¥ @uat F Jedwer gfafea 2 2

(1) SRS (2 Wh-af=a

(3) HAIETHEH . (4) FARTATOTES

‘The process of identifying and attracting the right for a job', refers to:
(1) Recruitment (2) Selection interview

(3) Promotion (4) Processing application

‘Fpdt D A Iuga oraedt H fafead FH aur & Twfa ¢

3 gfear &1 anqd B ¢

(1) w<it gfear (2) T ATRTEHR

(3) w=gfx (4) STRAEHA HHHOT

Which of the following is NOT a part of selection process ?

(1) Reference checks (2) Medical examination

(3) Identification of vacancy (4) Qualification assessment .
Prfafaa & @ -a1 9g qfkar & wrr T8 § ?

(1) SIFHRA g (2) ffrcia gden

(3) R wm= fafea s (4) QrFIAT SAiHAA

In which type of job interview , a standardized set of questions are
asked from all candidates ?

,

(1) Unstructured interview (2) Structured interview
(3) Situational interview (4) Stress interview

AH0 armeeR B FFa 9w & @it orwafiat @ o aEEiga geEt
P gEd B 99 B I ¥ ?

(1) orEfRa aRTEhR (2) wfaa EmrRIERR

(3) RS gEneEpR (4) ufdssr grTErR

28
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70.
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‘Transfer, that is initiated as a punishment for indisciplinary act of
an employee’, is known as :

(1) Replacement transfer | (2) Remedial transfer

(3) Penal transfer " (4) Rotational transfer
Mmr&%?smﬂwmaﬁm%mﬁﬁmw
(1) sfreas wEFaCeT (2) [URTHE TIATRALOT

(3) ITOSTHEH TITHAIOT (4) BT AT

External placement is considered to be desirable under which
conditions ? ‘

(1) The talent pool within the organization is large

(2) Required skill development possible within organization
(3) Internal development is a key personnel issue

(4) The talent pool within organization is limited

Rer aRRafrdt # aga Pritom afe-a =T ST 8 7

(1) "= & arg afadat & ag=eg g&d & '

(2) @@ ¥ awas e Qe dwa &

(3) IraRss g HHard ™ /] TEs 9 g 8

(4) wEE # drg afRdt o ageEd aga F9 A

Which is NOT a traditional method of performance appraisal ?
(1) Assessment Centers (2) Graphic Rating Scale
(3) Critical incident method (4) Confidential report.

B @ Proee geatE A Ff @ a8y 2
(1) @@= A= (2) e AT =
(3)@&%@%-‘6% (4) mw
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71. What is the full form of BARS method of performance appraisal ?
(1) Behaviourally Administered Rating Scale
(2) Behaviourally Anchored Rating Scale
(3) Behaviourally Administered Ranking Scale

(4) Behaviourally Anchored Ranking Scale

FAfOET geaiET @ @, o) o fafy @& got Am a7
(1) fRfae e W @«

(2) faefaasht o=rd W et

3) faRfaawh csfafaesd Wrr @

@) fRfaach o= W @a

72. In which appraisal method employee is assessed by his superiors,
peers, subordinates, internal and external consumers/customers ?

(1) Assessment center (2) Management by objectives

(3}' 360° Feedback (4) Human resource accounting

fra srdfrsaes geaiea fafy & sdard &1 sieaa aflss
HAfaHRAl, grenyg HHaRal st wHaial, st=afe o aga
SYHIFTIA! /ATEHT ETT AT Sar @ ?

(1) I@FA=< ==X (2) TET B T TEYUH.
(3) 360°HTAH | (4) BgHa REd smpaefa

73." Which Act in India contains specific provisions for safety of
organizational workers ?

(1) Industrial Dispute Act (2) Factories Act

(3) Employee's State Insurance Act  (4) Minimum Wage Act
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75.
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B) TR Ve FaR=g fufmm (9) B 3w sifafraw

Which of the following accident causation model is given by Dr. Russel
Ferrel ?

(1) Motivation-Reward-Satisfaction Model
(2) Incident Causation Model

(3) System Model

(4) Human Factor Model

Fr=fefaa 3 @ f-a1 gdemt aror w1 dtsa =1, @ G B 2

g pgr T or ?

(1) FAFHUON-gREPR-AN Atz

(2) 9T HROT HEd T=arEF Atsd
(3) P Atsa

(4) AHE geF Hisw

'Flash burns' a type of eye injury to workers is caused due to :

(1) - Ultra-Violet rays (2) X rays

(3) Infra- red rays - (4) Gamma rays

‘FIN T4’ TF GHR B @l B fara HHEnRREr F Y @1 B
2

(1) 9T fhst (2) ot

(B) FERS &t (4) TrET fpot
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760

77.

78.

What is the minimum number of workers in an industry which makes
it mandatory for the organization to appoint a safety officer ?

Rt ol dear § FHEREt A a8 g wen a d R
A g e Z gRE A A Frga ST st S
g7

(1) 500 (2) 5000 . (3) 1000 (4) 150

Which is NOT a stage in consumer purchasing process ?
(1) Search for product information -
(2) Product choice

(3) Post-purchase behaviour

(4) Deciding the selling price of a product

D-d IgNFN B FT THT T TH e A4 & 7
(1) S@E 3 IR & TEHA B G

(2) SR FIT

(3) FNIU AR

4) SO 3 g g & PR

What is the correct sequence of the given stages of ‘consumer decision
making process' ?

(A) Decision to Purchase, (B) Evaluation of alternatives, (C) information
search, (D) Need recognition

(1) D,C,B,A (2) C,B,D,A
3) B,D,C,A (4) A, D,B,C
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‘g FA rofa gEn’ @ & 1 sraened & 9d B T ¥ ?

()wa FA # Frofa, (3) Rt &1 geuiss (|) JHad @ @
(%) rawgwar FHt gEE=

1) ¥ 8/ A 2 9, 8 7 AH

3) §, F 9, A 4 A, T, 9, 9

What would Post-purchase evaluation of a dissatisfied customer most
likely result in ?

(1) Increased loyalty (2) Customer satisfaction

(3) Recomendation of product (4) Decreased loyalty

frefl STEge SuHlaw & FATA YRHET FH =99 guifaa aRemy
T -7

(1) et # gz ) (2) IqwET H G

(3) I F/ dERIRY 4) =y & o

Which of the following is NOT a ‘personal factor’ effectiong consumer
behaviour ?

(1) Life style (2) Occupation

(3) Family (4) Age

Pr=fafas & @ H9-91 ITAFT IR HN gHfAd HA I B
dafas wre’ w1t & ?

(1) o it (2) |IEHE

(3) aRarx (4) g

Who was the main proponent of the Mental Health Movement ?

(1) Emil Kraeplin . (2) Sigmond Freud
B Cliffard Beers (4 Carl Rogers
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AHS @A TR B & O @ ar ?
(1) ofye saRE 2) e wTs
(3) Prwd Rad @) =t Aord

82. Which is NOT a characteristic feature of good mental hcal}tp ?
\/{'I'] Having mood swings
(2) Having positive feelings about onself
(3)‘ Being able to cope
(4) Independent thmkmg

m—mmqﬁmwmﬁﬁmwwﬂ%?
(1) = & qa9 = _

2) wd & AR ¥ qE WE e

(3) HATOT & &waT BT

(4) =t # @ax @ 9

83. Which is the best coping strategy for ensuring mental health ?
(1) Ego oriented (2) Task oriented
(3) Defense oriented (4) Other oriented
ngﬁﬁmmﬁ%mm—mmgﬁamm
2
(1) orEy IRTgEaT (2) FHd aaf*‘ﬂgrsmr
(3) g Afrgery (@) o= AR¥gEr

34



14P/245/5

84. Social Psychology is the scientific field that seeks to understand nature

85.

and causes of which is the following ?

(1) Indiviadual's perception of personal situations

(2) Indiviadual's behaviour and thought in social situations
(3) Indiviadual's behaviour in experimental situations

(4) Indiviadual's behaviour in isolated situations

T T % A &= @ off Rreifea & & Rraa sy
g FHIROT A FH Gy & §o 9 8 ?

(1) =R aRRufaat & afa $ gcehsen @

(2) e aRRefgt # afda 3 sageRt g faart &t

(3) warms qRRufaat & afwat @ sggsd &t

(4) wwHra qRRufagt # =gt  sasRt &t

Group Cohesiveness refers to factors that cause members of the group:
(1) to like each other

(2) to remain in close proximity

(3) to care for each other

(4) to remain in a particular group

e dafdha 37 HRH A 3T FEA B B wROT e @ aAfFRn:
(1) TH g8 & 96 & &

(2) T FE B Y W ¥

(3) TH TEY H @AW @I &

(4) Pl PR FgE 7 9 A R
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86.

87.

The effect on the performance of an individual due to the presence of

someone refers to :
(1) Social facilitation (2) Social Loafing
(3) Social connectedness (4) Social relations

St sy & v < Pt ove Ry o SuReRy @ TS A
O¥g HI drad 8 ¢

(1) Gl axETeT (2) |mIRTH er:ﬁmﬁa
(3) |MIRTE == (4) s T =g

Cooperation does NOT depend on which of the following factors ?

(1) Reciprocity (2) Communication

(3) Ego orientation (4) Other orentation
wemRar Preafafaa & § fFg e 9 Pk ot & 8 7
(1) QR (2) TR '

(3) o8y FfHR=TE (4) o=a ftHf=m|

Which is NOT a focus of Sprots Psychology ?

(1) Understanding psychological factors influencing perticipation in
sports
(2) Promoting a particualr type of sports event

(3) Understanding psychological effects derived from participation
in sports

(4) Indentifying interventions to enhance sports performance
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ﬁw—mﬂﬁaqﬁﬁammhﬁgwﬁ%?

(1) @a—q«ﬂmﬁm@mﬁamﬁmqﬁﬁwﬁmmaﬁ
e

) MMM%W-WW@MW
(3) @a—%ﬂmﬁm%mmzﬁrmm

(4) @-wmﬂqmmﬁaﬁmﬁﬂﬁmm

89. Who established the first sports psychology laboratory and is
considered to be the father of sports psychology ?

(1) Norman Triplett (2) Dorothy Yates
(3) Coleman Griffith (4) Carl Diem

mﬁﬁmaﬁaﬁmnﬁmmﬁwmmm
FARST &1 Ryar w7 ovar B aw A qr oo ?

(1) AT Rude (2) St Agw
(3) Hads fafpy (4) =t fBam
\)' Which of the following i‘s NOT a characteristics of sportsmanship ?
(1) Intolerance to defeat (2) Courteousness
(3) Adherence to rules (4) Generousity

Frfofaa & & S9-ar 1 W@ Fr ooy T8 2 ?
(1) qUog & ofy oraeasfierar  (2) smefsrar
3) Prawt =1 oo BT (4) SN
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91. Which of the following physical factors does NOT affect the

92.

93.

performance of a sports team ?

(1) Lack of sleep (2) Food intake

(3) Being thin (4) Illness

Prefifaa & @ da-w1 RS FE AF GgE B o B
guifaa T8t FHar ?

(1) = &1 owE 2) difga A=

(3) FHT BT (4) ard

What is the main feature of Cross, Cultural method of research ?
(1) Study of a psychological phenomeon in a specific cultural group

_(2) Study of a psychological phenomeon in different cultures

(3) Conducting culturally sensitive research
(4) Study of social structures of a specific cultural groups

iy @ sgEwpia Ry & gga @@ 4 g ? _

(1) frel Raftre dogpioe g & w-Rwnie Mad &1 e
2) fafr= awpfagt § a9t MO &1 g

(3) wephrat & ufy d@agasia g g

(4) Freh fafire srgpfs Ty @ e ST &1 T HIAT

Which of the following is NOT a problem associated with participant
observation ?

(1) Bias due to closeness with group being observed

(2) Ethical issues related to non-disclosure of observer's identity
(3) Role conflict for observer

(4) Less time required by observer the conduct-observations
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ﬁwﬁffaaﬁaﬁa-ﬁmwﬁﬁﬂmﬁmmwt?
(1) Wﬁ%ﬂaﬁaﬁmﬁmﬂw%zﬁmm

(2) ﬁmm&qmﬁmwmwﬁﬁmga |
@) Fievmmal 3 R wfver a3z |

(4) ﬁﬂm%mﬁmwm%gmwaﬁmm

94. What is the majmf problem with conduction an experimental research
to study a social pheno_menon ?

(1) Selecting the dependent variable

(2) Contacting the respondents

(3) Selé'(::tion of adequate sample

4) Maﬁfpulation of Independent variable

mmﬁm%w%mmm-wﬁaﬁ
q ggE guer a2 g o?

(1) 3@ == & gam

(2) ufernfat @ gd HaET

(3) IugF uferest @& g &

(4) @ax I3 F1 R=EEH

95. Which method of social psychological research mainly focuses on
exploring the relationships between variables ?

(I) Correlational (2) Ecperimental

(3) Survey (4) Observational

AT AAfs it A-@ R ggaa: =t @ onadt weadt
=AY T Ppfra B ?

(1) eI (2) urfrs

1

) o | (4) Priwomse
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96.

97.

Which of the following is NOT a characteristic feature of attitude ?

(1) Being Acquired (2) Centrality
(3) Inheritability (4) Directionality
Rr=ifefaa & @ @re-a1 sifwghy &1 T T8t 8 ?
(1) Afda &= (2) Dfxzar

(3) ST (4) ﬁ‘mmasm

What does 'imprcésion motivation function' of attitudes imply ?
(1) Being motivated to make a good impression

(2) Expressing tﬁc 'right’ views to make a good impression

(3) Holding impressive attitudes

(4) Trying to appear impresive and motivated

Rl & g FRERa @ Far ol ¥ ?

(1) oT=BT W 3o & o smie g

(2) mmmﬁ%%ﬂ‘aﬁ’g&zﬁ“ﬁaﬁmm
(3) wwrt @Rt & arer &

4) TwE o ARERa e 8 9 3™ HET

Under which of the following conditions, efforts at changing attitudes
are likely to be highly successful ?

(1) Forewarning about being the target of persuasion
(2) Selective avoidance of information challenging existing attitude
(3) Unbiased evaluation of views opposing attitudes '

(4) Attitude polarization in interpreting mixed evidence
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mﬁﬁmmﬁaﬁqﬁqﬁaﬂq%mm@
aE B 9BA A #H qIeEET I=g @ T P

(1) T & g 81 B IR & g go=r

(2) A gy At gArht 23 archt gaemelt F1 9gEEE IRER
(3) gRy Ref-gfedolt & Frsger stiver=

(4) PRI aredt A e & ol gdeor

99. Which of the following is NOT likely to be influenced by one's
prejudices ?

(1) Processing of social information .

(2) Beliefs about persons belonging to various groups

(3) Feeling about persons belonging to various groups

(4) Level of intellectual functioning |

Prafifea # & fre g3 afe & qafadt @ wwra 933 @ @
T exft B 7

(1) e dga-medt &1 gay= |

(2) Rf¥= el 8 vew afkat & ark & geend

@) = agEt @ g== aARwat 3 aR & s

(4) e Frd gy F1 @7

100. Which of the following is NOT a source of prejudice ?
(1) Ample avalilability of essential resources
(2) intergroup conflict and competition
(3) Parent's prejudiced behaviour

(4) Unfaugurable interactions with minority groups
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Prfafaa & @ A-ar g@ais & S T8¢ 2 7
(1) ARy @t @ qgaaa gl
2) Sr<rEggE way od afreqat
(3) arar-fyar & gatud FEER
(4) oTqEEAS e B A gfvgw fRad

101. What does 'An unfounded belief that all members of a specific social
group share certain specific characteristics’ refer to ?

(1) Beliefs (2) Attitudes
(3) Stereotypes * (4) Values

‘o AR g ) R Rtre aEfe agE B vt et
# 55 R 7 T w7 A T IR ¥ gaw awed T ¥ ?

(1) «remd (2) otxgRmai
(3) wReghRa @) T

102.Which of the following is NOT a characteristic of a ‘Transformational
Leader' ?

(1) Focus on group needs as against individual needs
(2) Serve as charismatic role models

(3) Stimulate creativity among followers

(4i Present an inspiring vision of future for gréup

Freafafea & & S-ar sur=refa Jar @ e ot 8 ?

(1) =gt A STEEHaRl F qTT TIE B TETGEHATRAT G
I

(2)%%@%%
(3) Gt & IFeTEwRAT ARG BT
(4) T B TN WA H IROMIT g TG HAT
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103.Which style of leadership is characterized by '‘complete trust and
confidence in group members, consideration of their opinions,
interests and goals, and taking decisions in consultation with them ?
(1). Authoritarian (2) Democratic

(3) Charismatic (4) Laissez-faire

Fhe g % Aga df ‘aE @ Tt ¥ gof Rvarg o@ w41, o5
fma, Eﬁ:ﬁiqaauﬂmﬁaﬂwammqsﬁvamﬁvham
an Rfye @ o & 7

(1) s (2) SpaATD
(@) HReTs | (4) STEEIEY
104.The Contingency theory of leadership has been proposed by .........
(1) Robert House (2) Fred Fiedler
(3) Victor Vroom ) (4) Hersey & Blanchard
AgE & APWitrs R T g fear ar Ry
(1) AT grew 2) B3 R
3) faT gw (4) B o ==hrE

105.Which of the following is NOT a characteristic required for being a

good leader ?

(1) Adjusted personality

(2) Communication skill

(3) Empathic ability

(4) Having definite & fixed ideas
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o TSt a1 a9 B R Prafifaa & § A-71 O A AEED
T8 2 ?

(1)' FaRa Ak

(2) T &FAT

(3) aggYRy A anT
4) PiRea aar s RErt & =

106.Which of the following is responsible for mobilizing body systems
during 'fight or flight' ?
(1) Sympathetic Nervous System
(2) Parasympathetic Nervous System
(3) Somatic Nervous System
" (4) Spinal chord

‘dad 1 WY’ B 999 TORE dF H dard H o ke FA B
R PrefReg & § H=-a1 ST 8 ?

(1) Rrdafrs wg o= 2) Jufrdafes w1y dx
(3) AW dfFyewr o= (4) ABIUS

107.What is ‘white matter in the brain mainly composed of ?
(1) Protein pockets (2) Collection of fat
(3) Myelinated axons (4) Cell bodies of neurons
afitaes # Qa gad Tyw w9 & fRad w<fEa far ¥ ?
(1) = dide (2) TET B GAST

(3) =i - sremiRa diw @) TR FH D
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108.Which neurotransmitter is responsible for conveying information at
neuromuscular junctions ?

(1) Dopamine (2) Acetylcholine

(3) Serotonin (4) Adenosine
mﬁm@mwww@%m%m@wmw
I Bar 8 ? _

(1) ST (2) CRyeEEHITT

3) ¥RF= (4) R

109. What is the exact number of Cranial Nerves ?

FIAT dfreit & wHey T dEr v 8 ?
(1) 24 @2) 15 3) 10 @) 12

m——
- W ——

110. Which is the major 'sensory relay center' of the brain ?

(1) Thalmus (2) Hypothalmus
(3) Medulla (4) Pons
aRerss & TgE EAEG TERET F PA-Ar & 7
(1) =™ (2) EEIATHH
(3) Agm (4) 94
111. Metabolism is usually divided into two categories,............... , the process

that breaks down organic matter and harvests energy and .......oceeveene ,
a process that uses energy to construct components of cells.

(1) Anabolism, catabolism (2) Constructive, destructive
(3) Catabolism, anabolism (4) Deo__t;ructivs, constructive
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TG FHE S A [ TN A R arsmar R, .. , a8

ufkar e Sfasw gt @t fafvsa @ ot = 3 st ® qen
............... , T gikar e St @1 Suant @ et 3

31qgat &1 Fmtor fBar siar &)
(1) TATEReH, ST (2) P, Ravsas
(3) e, TATERST . 4) RaEvsaH, Fetomrd

112. Proteins are made up of what type of mofecules ?

(1) Nucleic acid (2) Amino acids
(3) Ascorbic acid - (4) Carbohydrages
AT ha gHR & Sropedt A Riffa By ¥ ?
(1) gfs afys 2) cof¥Er ofys,
(3) uERifds ufys - (4) FElEE3EE
113.What is known as the "Imolecular unit of intracellular engergy
transfer” ?
(1) Protein (2) AMP
(3) Body Fat (4) ATP

(N
émﬁﬁmaﬁmaﬁmﬁmm’ﬁmmam:ﬂw
?

(1) A= (2) T. TwH. 9.
() riRes F@r 4 < & @ N

114. Which of the following is NOT regulated by the homeostatic system of
- the human body ? :

(1) Balance of alkalinity & acidity
(2) Body Temperature
(3) Blood glucose level

(4) Body fat accumulation
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Fr=fafiaa & & 919 91 a9 1 3 ST 9 3z Pt
Tt & s ® 7

(1) AT Q@ Srafdan & He
(2) AT H agEH

3) GF F BT W &R

(4) RS a@r §aa+

118. What is the function of semi-circular canals situated in the ear.
(1) Sending information about 'body balance’ to brain *
(2) Transforming g.ound to nerve impulse
(3) Collection of sound waves

‘(4) Conductiing sound vibrations to cochlea

ot ¥ Rea M- I & gwd w=av ¥ ?

(1) T 3 §Ia9 B aR F ARass @& TS Ao
2) @y H =g o # qRafkfa s

(3) @fs &¢I H1 F{ASIOT HIAT

(4) @t Fa F Fifar aF i HIET

116. Colour blindness is related to damage in ---------===----- cells ?
(1) Rod Cells (2) Ganglion cells
(3) Cone cells (4) Glial cells
[T AFATAT oeeennnannnnn, FREERT N afy /§ == ¥
(1) Tz R (2) Wi S

3) BT W (4) Poas Hfed

47



14P/245/5

117.The -------mmmeeeuv is a neural network which is that part of the motor

system that causes involuntary reflexes and movement.
(1) Pyramidal system (2) Extrapyrmidal system

(3) Parasympatheric system (4) Muscular system

............... T FEfAH o & A A9 o5 & 91 ® ol
Ifes sfadl od et & AR war

(1) Rafes & (2) wwrERUE &
(3) ¥Rrdafes d= (4) adfg o=
118. The motor impulses originate in the giant pyramidal cells of the motor
area which is located in the ............. of the cerebral cortex. '
(1) Cingulate gyrus (2) Postcentral gyrus
(3) Precentralgyrus (4) Superior frontal gyrus
Tt AT Aefrr & I 4 wra Raftrsa AR ¥ oo 8y
g Sifs aafeTss avge & ... T Ry ar B
(1) R maE (2) W S TERE
(3) RE=sa My (4) IR H=a mTE"
119.The ----ecmmmmme . is the level of intensity of a stimulus at which the
subject is able to detect the presence of the stimulus at least 50% of
times.
(1) Difference Threshold (2) Just Noticeable Difference
(3) Terminal Threshold (4) Absolute Threshold
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................. Gﬁwaﬁmzﬁmﬁnzﬂ%ﬁr%ﬁmw
gferarht Sfius 3Rt SuRafy FHt F97 & F9 50% IR G HT g
g

(1) fafrm=ar 2wt (2) AT TEIAEA AT FA<
(3) drmadt wh 4) e e ‘

120.'The Power law, stated in context to relationship between the
magnitude of a physical stimulus and its perceived intensity or
strength' is named after which psychophysicist ?
(1y S. S. Stevens (2) E.H. Weber

(3) G.T. Fechner (4) R.S. Woodworth

M SEus 3 =T qur g G Ht gaiga Saar stua
g 3 g Ty @ e § FRE qEe A e gEeifae arel
P AN Q AT AT & 7 '

(1) T©q. . €99 (2) 3. ug. =

(3). . &. BHAX (4) °TX. TH. gsad

121.According to Signal Detection Theory, the sensitivity index (d")
depends on:
(1) Distance between lowest and highest values in signal-plus-
noise distribution

(2) Distance between the means of signal-plus-noise and noise

distribution

(3) Distanéc between lowest and highest values in noise
distribution

(4) Distance between lowest values in signal-plus-noise and noise

distributions
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HHa H@I R 3 JFER dageear gEsis (d) FreiR war @

(1) WRHA-HaET dgad RBaer f gAas O Isaaq FGaE B
fig N T w ) "

(2) WdA-HEw wgH BT qur Hered R $ geEE B
A @ w -

(3) FreEw faRer # AT TOT IeEAH HEH B AT H TH W

(4) m—mmmmmmaﬁw
qEieAt & @i @it g 1

122.In ISR method of psychophysics the intensity of stimuli

is successively increased or decreased by the experimenter.

(1) Method of Constant Stimuli (2) Method of Adjustment

(3) Method of Limits (4) Staircase Method
AN & fafer & st o SEias @ m5En
H IAACR T@d a1 g FH F qiRatfa fBrar s ®

(1) R 3dus Ry  (2) wweE R

(3) @ fafy (4) | fafy

123. Which level of measurement involves existence of order, possess equal

intervals, thus a unit of measurement, but lacks an absolute zero ?
(1) Ratio (2) Interval
(3) Ordinal (4) Nominal

S0
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WO B A & @R A SR w1 sfe ey @ ofaw, saRi
TH A A g a8 ¥ ag arafaw T T @ @ 7
(1) Srgues (2) ofaT=
(3) FTET @)

124.The lou'r'levcls of which neurotransmitter is associated with

development of pathological anxiety.
(1) - Endorphins (2) Norepinephrine

(3) Dopamine (4) GABA

WS =ar S R[ara BBy dfrepr @9 & e @ @ g ®?
(1) =R (2) AR RRREA
(3) Safas ' 4) St T & q (man)

125.The Huntington disease is said to be caused by which type of genetic

mutation ?
(1) Autosomal Dominant (2) Autosomal Recessive

" (3) X linked Dominant (4) X Linked Recessive
§fve R Rl S @ ST SaRadT & & Swa B 87
(1) rrawa SfE= | (2). RrERT Rafda
(3) T HgE A=< (4) e dgF Rt
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126. Which of theoretical viewpoint proposes that the acquiring adaptive,as

wellas maladaptine, patterns of responding are governed by the same

principles.
(1) Psychodynamic (2) Client-centered
(3) Behaviouristic . - (4) Psycho-social

-1 Yeiire gferT g8 seiaa e & B srgpfdia | & A
gRfsar 3 gt & o o & e & 3|

genfa g 2 7

(1) HARTETES (2 h-fEa

(3) HIBRATEI (4) TN-|rIRTR

127.Which of the following does NOT characterizes theEgo-defense
mechanisms ?

(1) Having certain adaptive value -

(2) Pushing painful experiences out of consciousness

(3) Result in distorted view of reality

(4) Rational unconscious protective measures

Rreifefaa & @ Am-ar oew gRaT gRadl @ aRwiiva wé s
g7 _

(1) HB 7= 7 AR Tod oAl

(2) FWIER TTWAl H AqHA B ABI TDHA AT

(3) arafasmar #t fagpa gRewr & gy

(4) afETT AT GIRAHS I BT
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128. According to cognitive-behavioural perspective, maladaptive emotions .
and behaviour are the result of :

(1) Distorted thought & information processing

(2) Distorted physical environment

(3) Inability to learn adap;ivc response patterns

(4) Distorted development of ego & superego

TS -ATERATE! RIHOT F FFAR SFHAGHATT G T HI8R
gfoms A R 3 -

(1) Rgpa e od g==m geqor

(2) Rgpa Afas am@m@cer

(3) ST FIER gfwA drEt ' r|Hdar

(4) 9T8Y Td qeTey & R e

129.Which of the following parenting style is NOT associated with
development of psychopathology among children ?

(1) Neglectful-uninvoled (2) Permissive-indulgent

(3) Authoritarian (4) Authoritative

PrefeRaa & @ o9 9= # H-d AN F=31 F gARgRY @B
fpa & wa= T 2 ?

(1) TREAB-ITTE (2) HAFHE - FIFAEMT

(3) TIATEH®H 4) sfemrd

130.The ICD- 10 classification of psychological disorders has been produced
by whom ?

(1) American Psychological Association
(2) American Psychiatric Association
(3) World Health Organization

(4) World Medical Association
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NP ARt & ong. . H-10 Ffwcor feas e Bl e
™R ?

(1) AT aEnRera saRRATH

(2) aﬂﬁmﬂma@ﬁﬁm

(3) a2 B FFHESYH

(4) a<d Az AT

131.1n DSM-IV-TR the personality disorders are classified qn which axis ?
(1) Axis-I (2) Axis-Il
(3) Axis-II (4) Axis-V
AW VA AR A e Rer e e« afiga e
oA E 7 |
(1) o781 (2) STE-III
(3) ST&-II (4) -V

132.What is the range of the numeric scale of Global Assessment of
Functioning of DSM-IV-TR ?

31.09.TH .- IV-E .37 &) iiae 8= i G=pafiT ofdg e
F R T 8 ?

(1) 0-100 (2) 0-50 (3) 0-10 ', (4) 0-1000

133.What is the main affect and use of drugs grouped under the category
'‘Barbiturates' ?

(1) Facilitation of social interaction (2) Tension reduction

(3) Increased alertness (4) Increased endurance
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s AR F afiga ot &1 gy s wd SwET @ B2
(1) amilms s=afddar & geeffecer  (2) 9@ F &4

(3) Tamar ¥ gfx (4) weTdee ¥ gfx
134.Which of the following is NOT a stimulant ?
(1) Cocaine (2) Alcohol
(3) Dexedrine (4) Amphetamine
Prefafas 3 @ P-ar ‘SAo’ =6 B ?
(1) =& 2 =R
() 3FfE (4) e
135.Marijuana is categorized within which of the following ?
(1) Stimulants (2) Narcotics
(3) Sedatives (4) Hallucinogens
mmﬁmﬂ‘ﬁmmmf@mm%'?
(1) Iav= . (2) ANTHD
3) s ofmy . (4) AR HRS
136.Who devleoped the Rational Emotive Behaviour therapy (REBT) ?
(1) Albert Ellis (2) Albert Bandura
- (3) B.F. Skinner (4) Walter Mischel
[T g Rt avdt (o E. M. &) # R R R ar?
(1) oF=d g (2) e ¥jT
- Q) REs.PwE (4) ameex fde
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137.Which therapy involves learning of adaptive behaviour simply by

observing another person and without being given any direct
reinforcement ?

(1) Imitation (2) Response Shaping

(3) Modeling (4) .Systematic desensitization

fore wifafrea & ‘T R g @ Baw gaR AfEF 3 e
F HUR 9T i FaeR &1 ey’ afafea srar 8 7 -

(1) STgpf (2) STFfFAT IIFEAU
(3) ufermqor . (4) gafRga STHAL ST

138.Which of the following is NOT a characteristic feature of Client

Centered therapy ?

(1) Establishing a psychological climate of acceptance

(2) Providing analysis & interpretation oi' client's verbalizations
(3) Therapist remaining non-dircc}ive

(4) Bringing congruence between self-concept & expericncihg

ﬁwﬁﬁqaﬁaﬁwfmﬂ'ﬁ—%ﬁmﬁiﬁﬂmaﬁrmmww%?
(1) ENFREIHAT B TH FANASNE qrAEeT S

(2) I I s R=fFat & fAsawer qenr RFE=ws &
(3) wfafhcas &1 AfEes @A

(4) EETIE TG TANEl # FHEIAT AT

139. Mental retardation is categorized on which axis of DSM-IV-TR ?

(1) Axis-IV (2) Axis-II
(3) Axis-V (4) Axis-II
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TS Hed 9.09.0q . IV-8.AR. B g ot g aiftga Rear s
2 7?

(1) AE-IV (2) S-1II
(3) M-V (4) o&-II

140.What is the IQ range for scvcr_c' mental retardation according to DSM-

IV-TR ?
(1) 20-25 to 35-40 (2) Below 20 or 25
(3) 35-40 to 50-55 | (4) Below 35-40

H.o0q.HIV-A.AR. B FER TER qofE A< B g
afer-Torics @1 R ¥ 8 ?

(1) 20-258& 35-40 (2) 20 4r 25 & =

(38) 35-40 & 50-55  (4) 35-40@ F=

141. Pregnant mother's being infected with------ is NOT associated with high
probability of baby being mentally retarded ?

(1) Syphilis (2) HIV-1

(3) Influenza : (4) German Mecasles

EIr: L AR 1651 B ) SO } dEfia A a=3 B AHRS & 4@
gz B @ goa wEET & aas T ¥ ?

(1) FyefeE (2) wa.mE.A 1

(3) FEHJTM (4) nf How

57 - P.T.O.



14P/245/5

142.In which method, the test is divided in two equal parts and the index
of rcliabililty is taken as the correlation between the scores of the two

parts ?
(1) Test-retest method - (2) Split-half method
(3) Alternate form method (4) Correlational method

e Rfy & qlerer @ @ qwaR Wit & R fear sar ¥ e
faraa-aan @& gasis A |9t 3 greriet & fig geassg B R

ST 8 ? . .‘
(1) qderor-g=: gdeor Ry (2) v fafy
3) Ry wrt fafy (4) wEETETTE fafy

(]
143.1f the scores on 'Test A' are highly and peritinely correlated with

scores on another test of external and independent measure of
essentially the same variable that the Test A claims to measure, then

it can be concluded that the ------- Validity of Test A is high ?
(1) Content (2) Costruct.
(3) Convergent (4) Criterion-related

R B ‘qlieror o B mraidt ok BR ot qEeT @ graiEt B
I Ie7 A TE AEEET 8 S Yo I WX @ a@eg g @
9T HIA 8 | B o) B AT & 2@ qfwer o #war Ay g
Frepdt Frebren o gaar ¥ 6 ‘qfieror o @ ... Bvyar o9 3
(1) Reg awgas ' (2) TIETHEH

(3) frErd (4) Prpy ga=eh
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‘l)ﬁﬁn which type of ‘'response set' there is a tendency to give very unusual

Or uncommon responses ?

(1) Acquiescence (2) Extremeness

(3) Evasi\_rencss (4) Deviation

fre s & ot R=ara & aga STl gr sramareT Srgfdear 27
@ ggfa &t & ?

(1) wagafy (2) goFw
(3)  TE= - (4) Remer

145.Which of the follovﬁing is NOT a 'Standayd Score Norm' ?

(1) Percentile score (2) Z-Score

(3) T-Score (4) Stanine Score
Preffof & & -1 wdga ST S @t & 2
(1) gfceras wAlH 2) AT HHH

(3) A-wAiEm (4) VEA FeAiD

146.What is the correct formula used for computing the Intelligence
Quotient (IQ) ?

Chronlogical Age Mental Age
(1) Mental Age x100 (2) Chronlogical Age
Mental Agc <1600 Chronlogical Age
100
) Chronlogical Age (4} Mental Age
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gfeafer o & TorFT FA B A g wA@ F A A e @@
R

| TS lliieg
0 ey 1P @) Sy
gt WATTEEE 1Y
3) wmgsﬁmm:qnoo 4) A g

147.The very first attempt to create a standardized test for assessment of
a person's intelligence was made by --------

V[,b) Alfred Binet , (2) Francis Galton
(3) Lewis Terman (4) Theodore Simon

Maﬁaa&gﬁ@%wmﬁ%gmmmﬁﬁaaﬂ%m
JAIgH g9 ... & o fRear T anyg

(1) oeE = 2) HfE Teed

(3) TgIE T (4) R gEE
148.Who proposed the 'Three Dimensional Theory' of intelligence ?

(1) Binet (2) Throndike

(3) Guilford ‘ (4) Spearman

g @ Bemarh R e afaRa fear ar ?

(1) fA (2) GrzES

3) P (4) Raazd=

149.Which of the following is NOT one of the seven 'Primary Mental
Abilities' proposed in Thurstone's model of intelligence ?

(1) Word fluency (2) Perceptual speed
(3) Spatial visualization (4) Divergent production
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ﬁwﬁr@aﬁﬁdﬁ-ﬁuﬁzﬁ%mmg@%mﬂ
ST WRr wafve s awensi’ ¥ @ o T8t 7

(1) == ggar (2) TOE IWATTH-TfY
(3) e m=EsE (4) IgET Iy

150.In Wechsler Adult Intelligence Scale-IV (WAIS-IV) there are ------- index
scores representing major components of intelligence.

(1) Four _ (2) Five

(3) Six (4) Seven

AT AT R B -1V (37, Q. cmt TH.- IV ) F g B
e gedt # gt @ L. gasHis €1

(1) =% | (2) dfe

3) ®: (4) wm™
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ROUGH WORK
s wd
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ROUGH WORK
i
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